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—dEAHAEXN P2 40& *100,0000H 4,000
—HAE8F P2 ¥ MEH  200,000&x12& 2,400
— S WA 20,0003 x50 A+ 122 1,200
— sttt g3 galtl 400,000& *13] 400
—R0ZH e ===2 200,000& =122 2,400
—&Jjotdete] e ==+=2 580,000 <123 6,960
—&=J|, "l |X2cldl  200,000&12& 2,400
— 35I| KX HE =2
300,000& 122 3,600
— 35I| EIldAN =22 200,000& x13] 200
—HE22 AAE SN E2
150,000& *123] 1,800
—EA & 29| 1,850,000& =122/ 22,200
— Mg X zel 9| 950,000 x123] 11,400
—SY3 F& 94 800, 000& »23] 1,600
—22AE EE U =2
500,000& x123l 6,000
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2AM: SEZXAHAES2
B OO SR 2
& ofolbcttete 29 (&)
SA - BB B () - MM - BES Ol &t o San HmEET
— LG LBAE NAE
2,400,000& »2CH x10% 480
— st oty ¥ EEE A% SEE 29 7,000
SEEHHE ME
100, 000& *2H 2 x103] 2,000
- WM OMHE 20,000& 50 1,000
29228 P2 1,000, 000& *13| 1,000
HEHSUSE I8 ALK EH|
1,500, 000& *23| 3,000
-8 dAZ 228 44
200,000& =104 2,000
~DEB Y YK 2P S
250% 20,0002 *x2& 10,000
—dAHE & ARIE WX
500,000 * 1094 2 5,000
— st MEgsts uwi MA
1,000& 10,0005 *90% 9,000
— stz =822 SSHZE 3,000,000 13 3,000
o2g+¢ 6,000
—0lIE XME A A=
150,000& 4 H «103] 6,000
ogxtz 5,900
— A EE HED DHE A8 LItAT
el Xt Xt 950,000& *23] 1,900
— dAIS XS 28| 1,000, 000& *43| 4,000
02 3322l 136,960 193, 185 A 56,225
03323 2 HA 87,600
—dE3dz 550,000& = 12& 6,600
—2EtAG A QI AR
200,000& =123l 2,400
— ottt tet2 nERLYFE3
500& *3,600m’ 1,800
— &Gt AIEZ 400,000 x12& 4,800
—dIIR=a 6,000,000& x12& 72,000
O =zl 560
— et HagM) 287U (ER)
1,200 x10£ *35A| 2t 420
— W RRPL(ALR) 1,400& *100£ 140
OA&EHl Sl 48,800
—HEANELES RA2cb 500,000& =122 6,000
—Hd X FX 22| 5,000,000 =14l 5,000
— bt Ot0I& = Al& 2l 150,000& =128 1,800
— st AlE & DA EH |22l
2,000,000& x12& 24,000
— 4D da2 |2l 1,000, 000%12& 12,000
03 A2 Z I 50,000 50,000 0
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SN RSENSAS ST

A ogoltictnea 24
Sl OfRIOIBICHD SR 2 Y CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OELnstna 24 5,000,000& *43| 20,000
Og2=HM AH st HZ 2H
10,000,000& =13l 10,000
OZ0tJt= dicturst2r 2 5,000,000& *42] 20,000
202 o4 Hl 3,373 3,610 A 237
01 = LH 4 Hi 3,373 3,610 A 237
Oustat MY |FXS A 220
210,800& 43| x4 H 3,373
206 M= Hl 25,560 26,560 A 1,000
01 =8l 25,560 26,560 A 1,000
O4 a2 AMEE otF 7Y 10,000& = 100K 1,000
Od P4 YT2ME BT 2o
750,000& *4JH »23 6,000
OMEASE YE= M 3T 29
500, 000& =6H 3,000
O Sa2 S257 B42E 7Y
100,000& 104 1,000
OXAIE JIA & HIWE 7Y
200,000& »12& 2,400
O&xJ| 0ICl=EH 7Y 85,000 28K 2,380
Ox== 228 s4+7¢ 25,000& =404 1,000
OFANA HE AME Hs2 HEEF 7
50,000& 1004 5,000
OHg+=x M2 £ 10,0008 105128 1,200
OAAIE N 2¢ 2,580
—231(2Y) 28,000& x 104 280
— 230 2HEH 5,000& x 104 50
—IHRES(HE) 180, 000& *5H 900
—IHYREsS(EE) 150, 000& =54 750
—-SZ28&ES 120,000 *5JH4 600
301 et 8= 27,000 27,000 0
MIIEEE= 27,000 27,000 0
Ontstar S £E AHIEAZ 21,600
—Jlas 30,0003 «6H 10 128 21,600
Ontstzt A SALA AHIE4 3 5,400
— ALY 7,000 «5Hx102 «12& 4,200
— WSl 2,0003 x5 10 x128 1,200
405 TtabF S| 50,000 50,000 0
01 et EFSFHSHI 50,000 50,000 0
Ounstat Al ME= HE £X
50,000,000 =14l 50,000
HHR2IZH(SENAAES2) 121,020 121,020 0
CIHARIH(SEXNAALSH) 36,306 36,306 0
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2AM: SEZXAHAES2
o HYSYAH (STRALSH)
el QIHE2HH(SEXSAIES2)
= _ — SHE]|
SA - BB B () - MM - BES Ol &t o e
QIARHH(SEXAALS2) 36,306 36,306
101 @14 Hl 36,306 36,306
01 2= 36,306 36,306
O=lz22aY 36,306
—52Z2RE 75,0122 «228 »1/3+66 36,306
I 2 (SEXAAIEE2H) 84,714 84,714
JI2FU(SEXNAAIZS ) 84,714 84,714
201 Let24d] 38,694 38,694
01 At 22l 38,694 38,694
Oget=ZH| 14,644
—JIE2MREEY 100,000& »22H 2,200
— SAJI | 224 500,000& *2CH 53] 5,000
—diold Z2lH EU 237,000& *3CH 43 2,844
—SANEX 2 20,0003 x10H A %128 2,400
— g3y E3F AE 60,0003 63| x2J4 & 720
—SAI EH ¥ 150,000 =10 43l 600
—=SAD EE LA 330,000 = 1CH*23] 660
—mAEH F2Y 110,000 = 1CH 23] 220
ozg=¢ 24,050
— 2= g 50,0003 x 1 481 24,050
202 oddl 42,240 42,240
01 = LH o4 1l 42,240 42,240
Ogtsa RFA 2
20,000 x22H «83| x12& 42,240
203 YR =&t 3,780 3,780
04 FN2ELSZ=TH 3,780 3,780
OSEZXAHAE =2 350,000& = 12& x90% 3,780
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